B4 RAR=FHEEXBRHRFE-SRABTRRE

# el AERERIREK ERFPERABRUFERNR KBEHFPRAR

& & ~## A DHHE R~ | *N6E8A3A~8A3 10 (FMERE) |
YEE_—_3 % X&MB 464 8A4BRE
. — : MsA 3AD) : _
B & & h < X[c&E /&) 1 1 @8f 48(8) 1 B ® IHEMEE Y LY

- . _ @8R 108 (L) - .

= B X & £ & Al(E#B)| 2 als Weg118(8) Tl 2 36 (o)) E U e z
= # ¥ ¥ #H — Z|C % )| 3 10 © 81 120 (/4 7 37((=® \)&E a =

6)8H17H(L)
8/10x® (Mms8A18H(A) 8/10x@

w B 4 — J Xl(w@E) 4 3 ®8H248 ) 9 B|(mRIBERIF7FA T RE—X
EWYa1z=7— X(xw)5 ! ;?,;H;E(i) 8 W|(xx)|E M 2 5 v H —
8/119@— —8/119®
T E 2 4 A — X[(£EF) 6 0 4 N|(nEFEIRBERV|R A bDO VIR
xRS 49 vy xsa)1 7 0 Sl maMEY Frazd>x
8/10x@® 8/10x@

SazZT7 Ty H—R(HmE)S 5 0 42 (mEB)|BE 4 > /8 L R
X # 7 L > x|meEm|0 0 3 BlEzsE # 5 2 5 — z|9
8/17 4 (10:00) — —8/17 4 (11:10)

A—LEREHEXKI S I|(FAEH)| 10 8 HB(xH)XH 7 7 L a3 v X

> 8/10x®
DV VRKR=—Y S 5 T(KR @) l(sH)E B 7 L — T R
8/10x® 8/11%903
XARAIZ2L XL FEHCE )12 5 0 b6(xE)E @ £E v ¥ — X
¥ 0t % & — x|(xn)|13 ! 6 Mleadfp B85 4 v 5 %
8/119@— L{8/128h®
1] X 2 2 Jlcn2)| 14 0 1 8| ® Fr A YE—-—RPa=7F
SO a=T A L—v( 8 |15 17 6 #lsemm E7 2+ 0 — x
8/10%D— L 8/10%Q@
£ BB & N L — X[(:mx)16 8/24(L) S0|(sm )& & 3 4 A — X
10 #-® 10f
2w AT v R(8F|1T ! (09:00) 1 51 |(2em|RES LY KX & — X
8/18 21 (10:00) L l8/18 211210
F N J 3 v v R[(x®E)H 18 ) 6 P2((&E=2)|E 2 o v K L X
HBERKR—v L EHACHE)19 7 lo 7 ¢ BBl(m#H)I)ILYy KNy 2780 —X
£ B 4 A4 H — R|=m=rID| 20 5 2 B4l 2 T ¥ ¥ — U R
8/10%Q 8/10%@

N T 7 o0 — X|Cwi)21 12 4 B |l(mE))m & K » N — X
EARY VY87 — X mxm| 22 3 3 B6l(xx)m i 7 7 1 84 — X
8/11BD— —8/12h@

ME Y > F ¥ — X[(ME)H23 5 57l(xno)|la o= . F 85 &&

ry 8/105 @D
R E 4L & F K MBXxE) 24 BBl(x®H)X & 7 L — R A A
8/10%6 8/115Q@
# B o o v — R|[(zxx)|25 . 0 59 |(EEEm|BE R K— Y D EFE#H K
¥ v v x4 o X|mzm)|2 4 4 60|amemlm m B B ® =
8/17 4 (12:20) — L—8/17 4 (13:30) D
EMBEA—45 L v yrangr) 2] 1 6 fl|Amxp A L EHF XY 5 7
WE#&EY FILYIL Tk B) 28 4 5 62| B5)|#%k A F o 4 ¥ )L X
8/109 @— 8/105®
*kﬁle*f“(’—f(’f&ﬁ)zgje_ 3 B|(XxHEHNY 2740 v H—-—X
T H T v € L 2|(%H)30 1 2 64 |mem)|k v 4 F R 7 — X
8/11AB— L8/11h@

@ O ® R &2 — Xl(g®@E)3 16 9 BB F=LEHF®XY ST
- 0 3 ,
4oLy RS az= 7l=Em| 32 66|(2mEBRXK— v aER

— gop@—  REWRTERN 8/105®
RKRI—ILTUIF7AVY—|( & F) 33:|5_ ®--10:10 10 67((m=m)H)E 7 R H A4 S5 T
FHRedWarriors|(HEx) 34 2 g:;:g e 68 ((=m)m B K U — L R
®---13:40 2 o
®14:50 69 (C ® H|iF £ & 2 4 #H — R




